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Total No. of Questions : 48 + 31 = 79
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(ama - 212 a5 firp) (o : 80)

| Time © 2 Hours 45 Minutes | 00 | Full Marks : 80 |

artenterat & fera frdr

Instructions for the candidates :

| QO quTENa it et 57 6 3er 8
Candidates are required 1o gue ther answers i their own words as far as
pructicable

2. wfe i ofed @ o gy siw gt fafte wad

Figures in the nght hand margin indicate full marks
3 ¥R WEVT & s o34 & o s fare e sfafees s foar ma

15 minutes of extra time has been allotted to read the questions carefully.
4. W NFET 3 @vst | favr @ arog- o 0d avg-u
This question paper is divided into two sections — Section-A and Section-B.
avs-¥ ¥ 43 86e w¥ & el som sifER &1 aft o 40 sifuw gEl
& 3T &g & At Wew 40 IW & & gEwie fEwm agn s/E qv & foan
13 Fiifed &1 OMRITT-95% W Ry 710 &7t g7 & FA/AA A7 67 7 w0 fwwt
W TETT & gAY / AT 9ITd / &¥ / A N §T OMR IAT-99% H qaht
TN W N=qar QAT oftemy SRy g
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In Section-A there are 48 objective type questions ou! of which 40 queshons are

compuilsory If the candidate answers more than 40 questions, the first 40 answers
only will be ewaluated Each question cames 1 mark. Darken the correct circle
gen on the OMR answer sheet with black / blue ball pen. Do not use whitener /

lquid material / blade / nall etc. on the OMR answer sheet otherwise the
result will be (nualid.

FvF-¥ i AIfE A & sria ga sfevd & g g ova v K &
fe 2 3w ftfeir &

In Section-B therc are Short Answer Type questions of 5 subjects of Soctal
Sclence Each question carmies 2 marks.

FiaaT 5 5 30004 597 (Q Nos. 18 8 & Forpid famet gt & I &1 &1
History has § Short Answer Type questions (Q. Nos. | to 5) oul of which any
J questions are to be anstoered. .
Ay far 5 6 ey 3t wET (Q. Nos. 8 8 1) & faw fewl 2wl & IW
&

Political Sclence has 6 Short Answer Type questions (Q. Nos. 8 to 13) out of
which any 2 questions are to be answered.

NYVTRY 5 3EAY IR T (Q. Nos. 16 & 18) &, frri f&s1 zm'fa'na'a?{-‘?ir
Economics has 3 Short Answer Type questions (Q. Nos. 16 to 18) out of which any
2 questions are fo be answered,

it § Sy 3H07 57 (Q. Nos. 21 & 25) &, il foel 3l & I 3 &1
Geography has § Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 queshons are o be answered.

HTIZT TR 5 4 Y AT 5 (Q. Nos, 28 & 31) &, fAw fewi 299 & I
&1 &

Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 (o 31) out
of which any 2 questions are to be answered.

g7 JfAfter 8 314 I W (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) &1 FF ¥ &
fav ¢ 3w Frifra &1 sfwm, ot faam, s ed ymd 5 I9E § 0F-0&
g7 &1 Il 3 &1

Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14,15, 19,
20, 26, 27). Each question carrics 4 marks. One Long Answer Type question cach
from History, Political Science, Economics and Geography is to be answered.

el W & TR E ITFTVT HT IJGT TR FL

Do not use any type of electronic instrument.
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Tvg - N/ SECTION - A
7w U¥R ; Objective Type Questions

o W 1% 487w & gRIE wyy & wvw ury frwe ey m &, frnd § o w0k
mm?’*"?wﬁﬁm#om:ﬁzwfbﬁwaﬁfmmnﬁf&'ﬂmil

Question Nos. | to 48 have four options each, out of which only one (s correct.

sclected option on the OMR sheet. Answer any 40 questions,

1

40~ 1 =40
Mark your

40« 1 = 40
fanammdt sifss sz fom i o gan @ 2

(A} 1914 B) 1922

\JGi"f.l 929 D) 1927

When did the worldwide economic crisis begin ?

(A) 1914 (B) 1922
(€} 1929 (D) 1927
2. UMW T WaH WY TGN 4G 7
(A) 192330 ~(B}1925 %0
(C) 1934 %o D) 1939 %o
When was the Rashtriya Swayamsevak Sangh established ?
(A) 1923 A.D. (B) 1925A.D.
(C) 1934 AD. (D) 1939 AD.
[211])C [7037-C a3 Page 3 of 24
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3. vfte it wE & qre snoy e @ )

(A} ey Tt fyene (B) - wrw %«

(C) ©UEn &R g (D) ©TEN RREe

Who was the first President of Indian National Congress ?

(A)  Bal Gangadhar Tilak (B) Womesh Chunder Bonnerjee
(C)  Lala Lajpat Rai (D)  Lala Hardayal

4. foaum faely s gan @ ;
(A} 1855 o (B 1857 te

©) 1885t 0) 1887 to

When did the Sepoy revolt take place ?
_(A) 1855A.D. (B) 1857 A.D.

(C) 1885 AD. (D) 1887 AD.

s, frefefan & @ ®F-@ Wy 3 g oo w6 & fag sfuga d 2

1~ fomdt & it (R B) Rz ¥w 3w fzw

(C) W®®W D) e

Which of the following resources is authonzed to issue currency in India ?

(A) Reserve Bank of India (B) State Bank of India
(C) Parliament (D)  President
[211)C [7037-Cuy Page 4 of 24
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= g etz wEn A s A 8 7
(A LG E Xcs (B) o i

|C 0]-'. )

Which of the following is not a man-made disaster 7
(A} Terronsm (B}  Train acadent
(C}  Tsunami (D} Communal not

(A} T F T @ GmH
O3 ¥R @ (D) F& A

During flood people should go

(A)  outside the village (B] in the ficlds
{C) on highland (D) nowhere
g B RadEs e o wFAg ?
(34T @B 7
€ T3 @) T
Which of the following nvers is called the “Sorrow of Bihar ?
(A) Kosi (B) Ganga
(C} Gandak (D) Punpun
[211]C [7037-Cqy Page 5 of 24

http://www.bsebstudy.com

woo Apnisqasq-mmm//:dny



wod Apnysqasq mma//:dny

http://www.bsebstudy.com

9 farrt & e nE oprey w1y )
A] 4@t ~ B 5
() 6wt D) 77

The term of Panchayati Paj system in Bibas is

(Aj 4 years (B}  5years

(C} 6 yearn (D) 7 years
0. TN TR TR TH w7 123 wA g

Al 1992 1o B 1995 to

€ 1999k D) 2003 fe
http://www .bsebstudy.com
When was the Janata Dal United party formed 7

(A) 1992 AD. (B) 1995 A.D.

(C) 1999 AD. ~(DF 2003 A.D.

V1. fwE e A 1977 & 7 W % wem w e g
W) S (B) F0 2
C) TR TR (D) 37

Under whose leadership was the Janata Party government formed in 1977 7

woo Apnisqasq mmm//:dny

(A Morarji Desai " (B) Karpoori Thakur
(C) Jagjivan Ram (D) Chandrasckhar
[211])C [7037-Cu3 Page 6 of 24

http://www.bsebstudy.com



http://www.bsebstudy.com

AR At a1 g faw o gan 2

12 .
(Al 2010 to @) 2014 §°
€ 20150 _DF 2019 %0
In which year was the 17th Lok Sabha election held ?
(Al 2010 A.D. (B) 2014 AD.
(C) 2015A.D. (D) 2019 AD.
13 F T N o & i feed s 2
=
2 AL 3 3 @) e 3
:
= (© wEmE 3 (D) i 3
5.5_
2} Who adopted the policy of ‘divide and rule’ ?
=
& (A)  Britishers (B)  Persians
o]
g (C) Muslims (D)  Punjabis .
14. WA & 3Ty AEA § waE ngeaqe w®E 2
W A ~er @
(C) @Al & & (D) AR & TR
What is the most important in human's economic life ?
(A) Land (B) Money
(C) Field papers (D)  Receipt of Land revenue
[211 ] C [7037-C ny Page 7 of 24
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T # St L ACT S

15
(At ATEE O B) stdtg g A%
Pz ¥ yitw v (D frwd A i s
Which is the central bank of India ?
(A) Punjab National Bank {B) Regional Rural Bank
(C)  State Bank of India (D) Reserve Bank of India
16,  SrEEres 4 @ e w4 fEm o ?
=
= (A) 19654 B 1969 #
=
= -
= () 1975% (D) 1980H
o
%
< When were the commercial banks nationalized ?
=
Z (A) 1965 (B) 1969
o)
2 (€) 1975 D) 1980
17. ¥z e
(A) &ARE A ' @) dfueErg |
© faerr o ~Dy~ 3iifgen 9
Hirakud Dam is in
(A) Karnataka (B} Tamil Nadu
(C) Bihar . (D) Odisha
[211]C [7037-C ) Page 8 of 24
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18 II’.'?'FT 4
(A} wzE A (e e it
iC)  &E Y o e i
Sundarban is in
(A)  Karmataka (B) West Bengal
(C)  Kerala (D) Maharashtra
1o egfaten R 4§ frw At & 3vam gm k2
A) = By W
C) Hrw (D) EF T
Which mineral is used in manufacturing aluminium ?
(A) Tin (B) Bauxite
(C) Manganesc (D) lron ore
20 frdm geih v wR gH @ 2
(Al U (B)
(C) e : D) ¥ & w6
Where was the Second Earth Summit held ?
(A) New York (B) Paris
(C) Moscow (D) None of these
[211]C (7037-Cu3) Page 9 of 24
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21 fugm wiiw w€ (31 @ 7
(A)_—1815 & @) st
AL
) 1820 fe (D) 1848 fo
When was Vienna Congress held ?
(A) 1815 (B) 1818
(c) 1820 (D) 1848
22, ﬁrumréﬁ#fuqtmmwgiﬁ ?
(A) 1863 % B) 1864 %
1871 % o) 1872H
When was the Treaty of Frankfurt signed ?
(A) 1863 (B) 1864
() 187 (D) 1872
23w AT w1 AN FE R a2
AT B {3
) WR (D) SR
Where was Karl Marx born ?
(A)  Germany (B) England
(C)  France (D)  Poland
[211 ] C |7037-Cny Page 10 of 24

http://www.bsebstudy.com

woo Apnisqasq-mmm//:dny



wod Apnysqasq mma//:dny

http://www.bsebstudy.com

o OR e m g e om gan @ )

Al 1848 3 B 1864 H

JG- 1867 8 o) 1883 #

In which year was ‘Das Kapital® published ?
(A} 1848 (D) 1864

C) 1867 (D) 1883

g e S e @ wEE R )

(A) T B vA
Ao o T

Which of the following is a Rabi crop ?

A)  Jowar (B) Paddy

(C) Wheat (D) Jute

26 21 WIUT UYE WA wEE &) e g al

(A} 1905%0 % B) 1906 fo o

~C}1907 $o B (0} 1908 o

Tata Iron and Steel Company was established in the year

(A) 1905 A.D. (B) 1906 A.D.

(C] 1907 A.D. (D) 1908 A.D.
1211 C [7037-C 1y Page 11 of 24
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fars %1 Q9H ST AT e k)

AL Tz (B) W
(C)  EA (D) v
Which is the largest oty of Bihar ?
(A} Patna (B)  Bhagalpur
() Hajipur (D) Darbhanga
28, wwre few fren d faaa @ 2
. =
A St B O[S S
=)
&) WITETYL M‘-‘Tﬂ é
=3
In which district is Kushweshwarsthan Jocated ? §_
¥ s]
{A)  Vaishali (B) Begusarni g:
(C) Bhagalpur (D) Darbhanga {f;
o
29. TEIT WEMA U & HEHE B} 2 3
(A)  FETH B HHR™
(C) SmEmEa D) W fa=m qream
Who was the founder of Bahujan Samaj party ?
(A) Ambedkar ~ (B) Kanshi Ram
(C) Mayawati . (D) Ram Vilas Paswan
[211)C [7037-Cuy Page 12 of 24
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30 Fete ) crafer) o gea ytue oo ek

(A BUBRY () }l[ﬂ'aﬂ

() lawum 4D famr

What is the most helpful in the achicvements of Democracy 7

A} Poveny (@) Nliteracy

(C)  Abnormality (D)  Development
A} CH-WTH T en @ http://www .bsebstudy.com

AL —T6e) v favrae o @)  3mrgufa @t

() Tmgufa w ) w0l A i

Anti-defection law is applicable on the

(A) MPs and MLAs (B} Vice-President

(C)  President (D)  all of them
32 faifea d & dare BiMary) TR 2

A RS B) UHR

€ i wn ~Jpr T

Which of the following is a sick state ?

{A) Karnataka (B) Chattisgarh

(C) Andhra Pradesh (D) Bihar
[211]C [7037-Cny Page 13 of 24
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AN W AR W e el R )

AR By e

€)  =qarEk o)  afamza

Where 1s the headquarters of the World Trade Organisaton ?
(Al Geneva (B) Pans

i) New York (D)  Washington

hvwﬁ’ﬁmwro;ﬁmmmwﬁ?

(Al 1991 $o (B) 1993 %0

NG1995 o (D) 1997 3o

When was the World Trade Organisation cstablished ?

(A) 1991 AD. (B) 1993 A.D.

(C) 1995 A.D. (D) 1997 A.D.

35, WA 5 AR e sfufren w9 i gan
~ar199] %o (B) 1993 %o
(€) 199530 (D) 1997 3o
When was the Human Rights Protection Act passcd in Indin ?
(A) 1991 (B) 1993
(C) 1995 (D) 1997
[ 211 ) C |7037-C uy Page 14 of 24

http://www.bsebstudy.com

woo Apnisqasq-mmm//:dny



wod Apnysqasq mma//:dny

http://www.bsebstudy.com

Al G S ;
! Trﬂ & 'B? m q
-Lg ,"'I-g n (D} W ﬁ
Bihar (s ety in
(A} Minerals B)  Industry
€ Agrculture (D) Animal husbandry

37. mﬁmi’amrmsnfmhmm

(A) ¥UTEN IW 3 Mmz-&
C) & ¥rHes A D) T FA R

Who invented the steam engne ?
(A) Abraham Derby (Bl James Watt

{C)  George Stephenson (D}  Robert Fulton

38. & % wau gt wuy o faw o ey w1 08 )
Al 1850 fo Br” 18521

(1 1854 %0 (D) 1858 fo

In which year was the first cotton textile mill cstablished in Mumbai ?

woo Apnisqasq-mmm//:dny

(A) 1850 B 1852
© 1854 D) 188
[211 ] C [7037-Cuy Page 15 of 24
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weviaw i wa rg )

- ./'
(A} @Tull, 1917 B TR, 1917

(C) RE, 1918 D) frEm=w, 1918
When did Bolshevik revolution take place ?

(A) February, 1917 (B) November, 1917
() Apnil. 1918 (D) December, 1918
oz R #A 4 )

(A CTEfTE B) T

c) & R ~pr~ TR BURE
Who was Martin Luther ?

(A) Philosopher (B) Politician

(C) Religious reformer (D)  Social reformer

15 @1 Srwasr ¥ weensi #1 feae wriem 41 2

(A)  10-86 WiawA (B)  12-20 Hfa¥A

(€ 13 wfawa (D) 24 ST

How much was the participation of women in the 15th Lok Sabha 7
(A) 1086 % B) 1220%

c) 13% (D) 24%

http://www.bsebstudy.com
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L S \ »

Al T (B} R

AT o T

Which of the following s a union termtory ?
A Uttarakhand (0} Chhattisgarh

< Chandigarh D Kerala

43 ST W g )
Al 1969 to | 1970 %o

€ 1971 §o D 1972 {0

When did Bangladesh become independent ?
(A) 1969 A.D. (B) 1970 A.D.
IC) 1971 AD (D) 1972 AD.

wod Apnysqasq mma//:dny
Wwod' ApnIsqasq mmam,//:dny

44 @I EAmE WA EEa AL ?
A e (B) TR WA
€ = Em D) TR F T

What is the head of Patna Munsaipal Corporation called 7

(A Mayor (B) City Head
(C)  City Secretary (D} Nonec of these
[211]C |7037-C uy Page 17 of 24
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T ®

owrg o

@ ety

D)5y 8

Tarapur Atomic Energy Centre is in

A)
1<)

Oujarat

Chhattisgarh

(B) Madhya Pradesh
(D} Maharashtra

0. fow om A wh = fe stuw faem 7

=
2': AT TV 92 o B IMoma
<
i i 3 -
z (€) wIw D) #@ 4
2
o
72} Which state has the maximum expansion of forest ?
=
< (A Madhya Pradesh (B)  Uttar Pradesh
@]
3 (€1  Kamataka (D)  Kerala
47 W @by fa d
et TRELL
(€ Wy | (D) snim g
Rail workahop is located in
(A}  Jamalpur (B) Munger
(C) Bhagwanpur (D) Darbhanga
[ 211 ) C [7037-Cuy Page 18 of 24
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ST TR o )

W v 3 T
e

s

: it I 2 %
M

lro Ray METYNE iy available in
A Dhan
bad

) ) Delhi
[ Ra:

e (D) Guwahatj

WYY - ¥ / SECTION . B

YT / History
_ ‘ "YW oy / Short Answer Type Questions
SR TSN 1R s 7% AY 3wty §1 pd @ ekt 3 09 & v €1 g gy & g
2 %% Fraifre ¢

Jx2=6

Nos.
Question Nos. ! to 5 are Shon Ansuer Type Answer any J questions. Each question
aymnes 2 marks J=2-6
L./IEHB o & Em iy %timmm& ? - 2

What were the main causes of the French Revolution of 1848 ?

Wﬂaﬁmvﬁmh 2

Give bnef introduction of Lenin.

wod Apnysqasq mma//:dny

3 W N @ IO W w e O3 2

What impact did the Swadeshi movement have on industries ?

R cRecnd o f 2

What is Bloody Sunday ?
5. MAM I IR ETFAL ) 2

What do you understand by Silk Route ?

[211 ] C [7037-C Page 19 of 24
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#14 TATIT U7 / Long Answer Type Questions
gy "o 6 T 7276 Taire #1 g0 @ (XA O% &7 yav §1 ORw GF ¥ AT 4 0¥

Frafra 1 [xdé=4

Cuestion Nos G and 7 are Long Answer Tupe Ansuwer any one of them Each gueston

cmnes 4 marks Jad=4

6 _ATTRTIT 3T FTOT WY AT EL | 1
Describe the causes of the Non-cooperation Movement

4

s ot 4 amfrr faw e da ot e ) A zd

-4

How did the printing revelution aflect the modern world ? Explan

A=A famr= / Political Sclence

AY JAIIY W¥7 / Short Answer Type Questions
wFT ot 8 ® 13 7% &g yAvre i vl @ fewr 2071 & yA7 §1 ORIw g & AT

2 %% Fratfra i 224

Question Nos. 8 1o 13 are Short Answer Type Ansuer any 2 questons Each queshon
carnes 2 marks 2:2-4

8 _NATAE TR & g 2

Dcefine political party

9 R W /wa freen e

"o

Write a bnef comment on the Mayor

[211]C [7037-C 113 | Page 20 of 24
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{ xS
0. famil ¢ g w0 €1 1t 0 1) :

nelly .
Bnelly dencribe the functions of e opposition party.
w nm WT k ? y

What iy 4 sccret ballot ?

1. SR S i e e b 4 2

How 1 illiteracy a curse for democracy ?

13, NTEA S @) g 8| 4 2

How is terrorism g challenge to democracy ?

€4 39T sy / Long Answer Type Questions

TF WO 14 07 15 Id T #1 gd @ e o w7 3 §1 g o & fae
4“%*’ Ix4=4

Question Nos. 14 and 15 are Long Answer Type. Answer any one of them. Each question

carmes 4 marks. Ixd=4
14, WRA 8 Afqam e F e an wnel & ave wt T4

Describe any four reasons for the rise of casteism in India.

15,  WRCY @i & fel an fasmenait @ avi w6 4

Write any four charactensucs of Indian deinocracy.

[211 ] C [7037-Cuy Page 21 of 24
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NYYT / Economics

HY JHtT UFT / Short Anawer Type Questions
oy7 womr 168 18 7% ag Tdta b1 ¢ 8 Rt 20i o 37 &1 0w e & fap

zwﬁvfﬁ?h 2-2~4

(ueston Nos 16 to 18 are Short Answer Type. Answer any 2 questions Lach question

omes J marks 2x2~4
I st e w koo 2

What is monectary system ?

.E,,fm*.f! am fed wxa R ) 5
What is government service ?
What is multinational company ?

fﬁﬁ'ﬁﬂm]hng Answer Type Questions
WYY WoGT 19 Uq 20 ¥ IAdiw 1 A @ e vw wr Iav ¥ 0w me % fAv
4 3% fraifra &1 Ix4-4

Queston Nos. 19 and 20 are Long Answer Type. Answer any one of them. Each question

cames 4 marks. http://www.bsebstudy.com I «4-4

19 WA GEETEl & fTaEm &) aui %) 4
~

Describe the development of cooperatives in India.

20. TN & ®A-HA ¥ FewR € 2 uE ®UFTR & aRR quia wil 4

What arc the rights of the consumer ? Describe each right with an example

| 211} C [7037-C Page 22 of 24
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"i# | Geography
HY I W1/ Short Anawer Type Questions

ﬂﬂm31#25“Wmﬁvhraﬁdﬁﬁﬁanﬁd‘mftmm*ﬁ?
2 3f® Fraifta 3x26

Question Nos. 2] to 25 dre Short Answer Type. Answer any 3 questions. Each question

camies 2 marks. Ix2=6
MW & far-fam aE & Fmtm gen & 2 2

What items are made from petroleum ?

22,5 B Fo 2 e e s o 2
Write the names of any two plantation crops of India.

23T S B 30 § st w &) 2

Distinguish between Public and Private industries.

wod Apnysqasq mma//:dny

24, Y Sfae @ fadl 21 wopm Pagtwenad @ 3eca @ 2

Mention any two main characteristics of air transportation.

25. f@w 9 @1 & 3vm & ) Fwon w1 o 2

Write two reasons for the lack of forests in Bihar.

[211]C [7037-Cay Pge 23 of 24
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mmmfhng Answer Type Questions
oI7 Woar 26 U4 27ﬁlfmﬁvhl=rﬂ'#ﬁw?wwmhmyn#fw
« 3% Fuffra b [=44

Question Nos 26 and 27 are Long Answsr Type Answer any one of them. Each question

crlrrey 4 marks I~ -4

20 T & dniz 3ot w1 s fawm £ 4
Give a brief account of cement industry of India .

+

77 e @ ot pfe st @) e w1
‘N.'V./
Explain four agnicultural problems of Dihar

RT9%T TWYS / Disaster Management

MY TATIT 97 / Short Answer Type Questions
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Question Nos. 28 1o J1 are Short Answer Type Answer any 2 questions Each question
carmnes 1 marks 2e2=4
28 qmmnmtfnﬁnmrmwh 2
Mention any two measures for protecuon from landshide
20 e Tl WTOR W S w1 2
~~
Explain four causes of flood
MJ‘Imﬁiﬁfﬁqmﬂlmﬂl 2
Mention three effects of Tsunam:
7 qmﬁuﬂﬂhﬁﬁﬁﬁmmthﬁmmtﬁ? 2

What will you do to maintain sotl moisture dunng drought ?
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